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Sectnon A (5 x 1 marﬂ

For each quesbon four ophons are given. One of them is the eorrect answer.
Make your choice (1, 2, 3 or 4) and write your answer in the brackets
provuded

1. In the numeral 318, th_e digit 3 is in the place.

(1) ones

(2) -tens

(3) hundreds _

(4) thousands ( )

2. The sumlof 238 and 57 is
sum

(1) 181
(2) 221
(3) 285
(4) 295 ' ( )

3. What is the missing number in the box?
300 + +5=385

(1) 8

(2) 80

(3) -85 .
(4) 800 ( )

4 Which of the following is the greatest odd number?

(1) 439

2) 493

(3 943 | o

(4) 946 . . ¢ )



O [IINHUTeUs aliua 9 wlis 1S Ui satlie as

(1) 65
(2) 605
(3) 650
(4) 655




Section B (8 x 2 marks) o Co
Show your working-cléarly-in: the. space below each ‘question and write your
answers in the boxes provided.

6. Write the number in words.

632

a) The value of the digit 3 is

b) The digit| is in the hundreds place.

8. Complete the number pattern below.




bl M BT TGO SLIUNTLY VEIUW alid liahc a o-Ulgil evel numoper and
odd number All the 3—d|glts must not be the same.

4 1 5 8

a) Formm the greatest 3-digit even number.

b) Form the smallest 3-digit odd number.

10. 100 less than 321 is

11.  Fill in the missing number.

8 0 2
-3 8
3 4




12. Study the pattern. Fill in the missing:number in Set €. - .

600 1 700 5 500 8

SetA SetB SetC

13. Armrange these numbers in order. Begin with the greatest.

319 913 393 933

(Greatest) l




: Sectlon C(3x 3 marks)

Solve questlons 14 to 16 Label the glven model and wnte the number
sentences and answers in the s spaces provided.

\

14. On Saturday, 534 visitors went to a zoo.
On Suinday, there were 320 visitors.
How many visitors were fhere on both days?
( 534 ) ( )
< -

v
A
v

A
A 4

There were visitors on both days.

15. 920 boys and girls took part in a race. If there were 480 boys at the
race, how many girls were there?

( ) ( )

A
4
A
v

A

v

There were girls.




16. David has 453 marbles. L
He has 136 more marbles than Vincent '
How many marbles does Vincent have?

- ( )

< >
Vincent
( 136 )
€ >
David
( )
Vincent has marbles.-
The End

Have you checked your paper?
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Q6. seven hundred and forty - five
Q7a.3tens Q7b.6

Q8 109,105

Q9a.854 Q9b. 145

Q10.221

Q11.434

Q12.40

Q13. 944 (greatest}, 913, 393, 319
Q14.854 534 + 320=854

Q15. 440 »920-480= 440

Q16.317 453 -136=317
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